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lll Semester B.Com. Examination, Nov./Dec. 2016
(CBCS) (Semester Scheme)
(2015-16 and Onwards) (F+R)
COMMERCE
3.4 : Financial Management

Time : 3 Hours Max. Marks : 70
Instruction: Answer should be written completely either in
English or in Kannada.
SECTION-A
Answer any five sub-questions. Each sub-question carries two marks : (5x2=10)

1. a) Define the term financial management.

b) What do you mean by trading on equity ?
c) Give the meaning of capital structure.

d

e

What do you mean by stock dividend ?
What is net present value of a project ?
f) Distinguish between discounting and compounding.

)
)
)
)
)
)

g) Ifaninvestor expects a perpetual sum of X 500 annually from his investment,
what is the present value of the perpetuity, if the time preference rate is 20% ?

SECTION -B

Answer any three questions. Each question carries six marks : (3x6=18)
2. Mention the need for financial planning.
3. Mention the functions of a finance manager.

4. Profitability index 1.1235
Present value of cash outflow< 1,00,000
Present value of annuity of X 1 for 4 years at 10% discount is 3.159
Calculate the present value of cash inflow and annual cash inflow.

P.T.O.
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5. Consider the following date of XYZ Ltd.

4
Selling price per unit 60
Variable cost per unit 10
Fixed cost 3,00,000
Interest burden 1,00,000

Calculate operating leverage and financial leverage if the number of units
sold is 10,000 units.

6. ABC Ltd. is considering 2 alternatives. The first alternative costs X 12,000 and
the estimated annual cash inflow from it amounts to ¥ 4,000. Its economic life is
5 years. The second alternative costs X 10,000 and its estimated cash inflow is
also ¥ 4,000 p.a. Its economic life is however only 4 years. Advise the management
by using ‘Pay back period’.

SECTION-C

Answer any three questions. Each question carries fourteen marks : (3x14=42)
7. What is working capital ? Discuss the importance of adequate working capital.
8. What is dividend policy ? Discuss the various forms of dividend.

9. A company has EBIT of X 4,80,000 and its capital structure consists of the
following securities.

4
Equity share capital (X 10 each) 4,00,000
12% preference shares 6,00,000
14.5% debentures 10,00,000

The company is facing fluctuation in its sales.

What would be percentage change in EPS

a) If EBIT of the company increases by 25% ?

b) If EBIT of the company decreases by 25% ? The company tax rate is 35%.
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10. A Ltd. company has under consideration the following two projects.

11.

The details are as under :

Project X
Investment in machinery ¥ 10,00,000
Working capital % 5,00,000
Life of machinery 4 years
Tax rate 50%
Scrap value 10%
Income before depreciation and tax %
| year 8,00,000
Il year 8,00,000
[l year 8,00,000
IV year 8,00,000

Vyear —

Vlyear —

ProjectY
% 15,00,000
%5,00,000
6 years
50%

10%

4
15,00,000
9,00,000
15,00,000
8,00,000
6,00,000
3,00,000

Calculate ARR and suggest which project is to be preferred.
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M Ltd. wishes to instal a machining in rented premises for the production of a

component, the demand for which is expected to last for only 5 years.

Initial cash outlay will be :

Plant and machinery X2,70,000
Working capital 340,000
3,10,000

The working capital will be fully realised at the end of the 5" year. The scrap
value of the plant to be realised at the end of the 5" year is ¥ 5,000. The expected

cashflows from business operations are :

Year Cash flow P.V. factor at 15%
1 70,000 0.8696
2 1,00,000 0.7561
3 1,30,000 0.6575
4 90,000 0.5718
5 15,000 0.3932

Calculate the Net Present Value (NPV) of the project using P.V. factor at 15%.
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5. XYZ &. 308030 8N T2 oéﬁﬁd%@@ﬁsé% :

3
WO NFD0JT W0 W3S 60
20030 DFDOTTI 3TN, 10
ﬁ%d d?,i 3,00,000
2WROD 40 1,00,000

B0z032010,000 @@oﬁﬁeéa’% BIROTIT, F2CIE 3T B TEITIRD @ddeza*‘ﬁ%fdg{
FOTRIEBEBC0.
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ﬁzi@ % 12,000. 33003 sodse BemaN < 4,000 TNd 5560 20008 Q0ZT. &td 5 BRENY
wwojw_%oém@t TRODT. TESC TOIRFOIT ﬁzi@ % 10,000. =0 3% w3 % 4,000
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O3RRTOTTR W @%ﬁ@?ﬁ NZ0%. TS a’jzﬁj dam&% 203N : (3x14=42)

7. € WOBTIY ROTTER? méa-’% 1309 WOBTYT @ﬁ%ﬁ@ﬁg’% DR

8. ©I003 QS 0TTERD ? DT LR mmoﬁﬁ#@ 3R

9. 2,00V ;n’of&oja FOORFARF BEB0D B0 (EBIT) 4,80,000 2302) 9058 0@ 0%
T330320 3$B0OET.

4
AT, FeTd worme (X 10 Tog)  4,00,000
12% T e—%ﬁéé e 6,00,000
14.5% mo @I neh 10,00,000
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10.

11.

83 39500 AOTIFNYE, T 03R0%0 BT SWCNTY, &M% 3eTTe0e0000 wdmd%ﬁ#dg{
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2,0030 AIEITT® FODTIOIN TR O3RN wﬁ\ Qiraezéﬁagd 93T 330088 BENT0ST :

Beexs X
ojoogr{%* AR NIOeINDE < 10,00,000
238 WO ¥5,00,000
eveloctal o 4 IR
gon oo 3e.50
00T eBeR e 3e.10
RSB OB OTTODY, 50300

TRTOLO WTID 539 030 4
mar 1 8,00,000
2 8,00,000
3 8,00,000
4 8,00,000

5 —

6 —

Boexs Y
¥15,00,000
¥5,00,000
6 IR
3e. 50

3e. 10

%
15,00,000
9,00,000
15,00,000
8,00,000
6,00,000
3,00,000

RS BREEC0T RTIRO BEFO Cﬁddﬁg{ (ARR) 300&&3, 033933 03ReEIN
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5 SR BRF500Y, 2309 wocémqﬁwab% TPEF 30T BEODSRNOYT. 5 Bar T BeS00Y,
03002R,¢E38TET TWHCINPFOWD 23S X 5,000. maymd T2TOLE0TI 2B INTO T3 O
eI0TIVTI TWINTEIDNTS.

DRE  INO WOORE TR ds’ae?s €903

(3e. 15503)
1 70,000 0.8696
2 1,00,000 0.7561
3 1,30,000 0.6575
4 90,000 05718
5 15,000 0.3932

BRE [P, Je. 15 eumcdnens cdpessodd 38.% BRIE S500mm0 (NPV) 3058088000.
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